Woray Word Problems

Write an addition or subtraction sentence
for each word problem. Solve the problem.

Farmer Green gathered 36 eggs from
his chickens. His wife used 8 of them
to make breakfast. How many eggs
did Farmer Green have left?

There are 42 sheep are grazing in
Farmer Green’s pasture. Each
sheep has 1 lamb. How many
sheep and lambs are in the

pasture?
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How many apple trees does 1Y

he need to buy? .

Mrs. Green brought 75 jars of
homemade jam to the farmer’s
market. She sold 49 jars. How

many jars did she have left?

Farmer Green has 22

brown cows, 16 black cows, ( /
and 4 tan cows. How many

cows does he have in all? s

Farmer Green planted 18 rows of
corn before lunch. He planted 31
more rows after lunch. How many rows |
of corn did he plant that day?
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